

Kansas Corporation Commission Oil & Gas Conservation Division

1157021

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	SecTwpS. R
Address 2:	Feet from North / South Line of Section
City:	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	County:
Name:	Lease Name: Well #:
Wellsite Geologist:	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: Kelly Bushing:
☐ New Well ☐ Re-Entry ☐ Workover	Total Depth: Plug Back Total Depth:
Oil WSW SWD SIOW Gas D&A ENHR SIGW OG GSW Temp. Abd. CM (Coal Bed Methane) Cathodic Other (Core, Expl., etc.):	Amount of Surface Pipe Set and Cemented at: Feet Multiple Stage Cementing Collar Used? Yes No If yes, show depth set: Feet If Alternate II completion, cement circulated from: sx cmt
•	
Operator: Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth: Deepening Re-perf. Conv. to ENHR Conv. to SWD Conv. to GSW Plug Back: Plug Back Total Depth Commingled Permit #:	Chloride content: ppm Fluid volume: bbls Dewatering method used: Location of fluid disposal if hauled offsite:
Dual Completion Permit #:	Operator Name:
SWD Permit #:	Lease Name: License #:
☐ ENHR Permit #: ☐ GSW Permit #:	Quarter Sec. Twp S. R East West County: Permit #:
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date	

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY	
Letter of Confidentiality Received	
Date:	
Confidential Release Date:	
Wireline Log Received	
Geologist Report Received	
UIC Distribution	
ALT I I II Approved by: Date:	

Side Two



Operator Name:				_ Lease N	lame:			Well #:		
Sec Twp	S. R	East	West	County:						
INSTRUCTIONS: Sh time tool open and clo recovery, and flow rate line Logs surveyed. A	osed, flowing and shu es if gas to surface te	t-in pressures, st, along with f	whether sh inal chart(s	nut-in press	ure reach	ed static level,	hydrostatic pres	ssures, bottom h	ole temp	erature, fluid
Drill Stem Tests Taker (Attach Additional S		Yes	No		Log	y Formation	n (Top), Depth a	nd Datum		Sample
Samples Sent to Geo	logical Survey	Yes	No		Name			Тор	I	Datum
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Copy	d Electronically	Yes Yes Yes	☐ No ☐ No ☐ No							
List All E. Logs Run:										
		Report all	CASING I		New	Used mediate, producti	on, etc.			
Purpose of String	Size Hole Drilled	Size Ca Set (In C	sing	Weigi Lbs. /	ht	Setting Depth	Type of Cement	# Sacks Used	, ,,	and Percent dditives
		AI	DDITIONAL	CEMENTIN	G / SQUE	EZE RECORD				
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Type of Cement Perforate Protect Casing Plug Back TD				Used		Type and	Percent Additives		
Shots Per Foot	PERFORATI Specify I	ON RECORD - Footage of Each	Bridge Plugs Interval Perfo	s Set/Type orated			cture, Shot, Cemei mount and Kind of N		d 	Depth
TUBING RECORD:	Size:	Set At:		Packer At:		Liner Run:				
Date of First, Resumed	Production, SWD or EN		ducing Meth	od:		as Lift C	Yes No	0		
Estimated Production Per 24 Hours	Oil	Bbls.		Mcf	Water		ols.	Gas-Oil Ratio		Gravity
DISPOSITIO	ON OF GAS:		M	IETHOD OF	COMPLET	ION:		PRODUCTIO	ON INTER	VAL:
Vented Sold	Used on Lease	Open	Hole Specify)	Perf.	Dually ((Submit AC		nmingled mit ACO-4)			

Form	ACO1 - Well Completion
Operator	PostRock Midcontinent Production LLC
Well Name	OLSON, RUBY A 2-15
Doc ID	1157021

All Electric Logs Run

CBL	
DIL	
CDL NDL	
NDL	

AFE # D13084

McPherson Drilling LLC

Drillers Log

McPherson Drilling LLC

Rig Number: 2 5. 2 1. 28 R./6 E	-
API No. 15-205-28144 COUNTY WILLIAM	
Elev. 1046' Location SE- SE-SU-SW	-

Operator Post Rest mideon				
Address Oklahomy Towar	210 Ru	the Assa St.	272	<u>-0</u>
Well No. 2 - /5	Lease	Name O(spo	Rub	, <u>A</u>
Footage Location		ft. from the		
	1110	ft, from the	(E) (M/Line
Odding Contractor: McPI	nerson Drill	ing LLC		
Spud date: 4/3c//3	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Geologist		
Date Completed 5/2/13	.:	Tolai Depth	12201	

Casing Record			Rig Time:
***************************************	Surface	Production	
Size Holo.	14"_	775	
Size Casing	848		
Weight	23#		
Setting Depth	27	Post Rock	*
Type Cement:	port	44 41	
Sarks	<u></u>		

Gas Tosts:						
881	4L	24	7	G.	2	£L
981	41	T L.25%			المتانات	********
1081	نبخب	20	Č.			
(m/, m/, m/, m/, m/, m/, m/, m/, m/, m/,				auran.	O.C.	DEPOTO A
	an and a second second	Contrate to the state	icelc/entra	nocamen		
0.020 <u>22704(100)</u>						
OCANONIA					CONTRACE	veccor _{pe} .
		. entrement	TANK NEW	Marine State of the State of th	www	************
araar ematickas valdeek kootiscool (1915) een H	o de carece de la carece	watersta.			arrent W	mind
		mbrisoniario*	ALL SOME	Normal	· vp·······	مهر خيسيد پوند
**************************************	***********	**********			متعتد	- Charles

				*******	·	
	·					
				meanana	· contropre	navenavin
		· · · · · · · · · · · · · · · · · · ·		· · · ·	- -	- -
anaman'i kaominina dia kao	<u> </u>				سنس	سمنت
			-	-	escribbles.	kumini Vito

ery 11:	a af	100'			Well Log	7			
Formation	Top	Btm.	T	Formation	Top	Bim.	Formation	Тор	Blm.
Two Soil	0	8		0342	8/7	832	cest	1199	1200
Vine	B	14	1	summit	837	842	State	1200	1200
dal	14	129]	line	842	853			
Ulme	129	742]	Milke	853	866		in the state of th	
Show	142	234] .	lime	860	862			anunita anuissa etessa
leon	254	251]	Sale	867	5	estrountri recessiveres victions is	ace of contractor to the contractor of the contr	
sand	251	\$12	8	< <u> <</u>	865	818			
and the	317	3.75] '	sond dele	878	872	**/**TONERTHONESCOPEROPORTES HAVE		ļ
-Ceni	343	122		-strate	279	241		-	
Block	423	1432		cert.	74/	67 4/ 2	= 144-1521 H304-145-34140-11111	+	-
dine.	133	1432	São	shale,	142	169	economic miles established at v \$400000000000000000000000000000000000		
dund	1427	1,69	Sho	and the same of	969	72/	A * Salid * C + pallecing with the language estimate for maintenancing and	-	
fores	469	478	-	shake.	97	103.7	gamente de la companya de la company	***************************************	
dyels	3/3	49/	-	_ (×-n)	1035	1023	**************************************	resistante de la companya de la comp	
Legie	149)	54/		sond alsoft	/02.1	7035		_	
Anale_	124/	S66 5 85			わるゴ	1049			1
socred.	36	CONTRACTOR SERVICE	1	* rd chale	1049	105			N. CONTRACTOR CONTRACTOR
marge	1580	704	1	21) 4 IC	1063	1027	Adermatical configurations		
CONTRACK	784	1372	1	***************************************	1077	1079	SENSON PROPERTY OF STATE OF ST		- Annual Control of Co
-9671L	25Z	738		Cool	4554	1087	AND ADDRESS OF THE PARTY OF THE		
120	738	759		2. I	1019	1100		NAME OF TAXABLE PARTY.	
12:00	755	770		R. Kara	1100	1/22			T
	7977	817	1	Web Land	1122	1199			



TICKET NUMBER	8053
FIELD TICKET REF # _	
FOREMAN Natha	in Gahman
AFE D13084	
SSI	-
API 15-205-	28144-00-00

TREATMENT REPORT & FIELD TICKET CEMENT

DATE	WELL NAME & NUMBER					SECTION	TOWNSHIP	RAN	GE	COUNTY
5-3-13	01500	, Ruby	Α.	2-15		2	285	16	GE Wilso	
FOREMAN/ OPERATOR	TIME	TIME OUT	LESS LUNCH	TRUCK #		TRAILER #	TRUCH HOUR			MPLOYEE GNATURE
Nathan Gahingin	2:00	6:30		905575			4.5		11/0	56-3
Chris Kingid		6:00		931400	9	32895	4	Į	1//	
Greg Blackmore	1	6:00		903605	9	33235	4	17/7		7/11
70.0										
					_					
					<u> </u>					
1 / / : .	DRILL 9 SLURI 6 DISPL 9 Cation 4 Fi	SIZE 7. PIPE RY VOL ACEMENT PSI, AL 3 (Licket AY Nec	500 30	HOLE DEPTH_12 TUBING_ WATER gal/sk MIX PSI Ready + Ready cement	, 1	OTH CEN RATI	HER COS MENT LEFT IN C E MENT LEFT IN C MENT	Do CASING_ 4.0 at at	3:0	
								2		

ACCOUNT CODE	, QUANTITY OR UNITS	DESCRIPTION OF SERVICE OR PRODUCT	TOTAL AMOUNT
905575	1	Foreman Pickup	
		Cement Pump Truck	
		Bulk Truck	
903605		Transport Truck Haul Truck	
933235	1	Transport Fronk Haul Truck Transport Front Equipment Trailer	
	1	80 Vac Dozer	
931400	1	Casing Truck	
932895		Casing Trailer	
	1215,84	Casing	
	5	Centralizers	
	1	Float Shoe	
	1	Wiper Plug	
	Linguistic .	Frac Baffles	
		Portland Cement	
		CSA-122 Sodium Silicate	
		CGL-115 Cement Fluid Loss	
	6 5 ks	Premium Gel	
		Cal Chloride	
		City Water	
		Chemthix-P Thixotropic	
		KOL Seol	
	1516	Cotton Seed Hulls	



API # 15.205-28144

TICKET NUMBER LOCATION Foreka FOREMAN Sharnon

DATE_

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

AUTHORIZTION

FIELD TICKET & TREATMENT REPORT James mad CEMENT

				OFIVIER	1			
DATE	CUSTOMER#	WELL	NAME & NUME	BER	SECTION	TOWNSHIP	RANGE	COUNTY
5-3-13	6625	Olson, Rul	У	2-15				WILSON
CUSTOMER	10 45	0	73	0	erec year	Server bing ust	courage the u()	State of the last
	1 ROCK E	nergy (5 K (3	Gus	TRUCK#	DRIVER	TRUCK#	DRIVER
MAILING ADDRE			1	Jones	520	John 5		
4	402 Joh	mson Ro	1	: 200C)	515	merle R		
CITY		The state of the s	ZIP CODE		452 + 7/13	Jim m		
Chanc)-le	KS			85	Rudy m.	MCLOY TV	Kking
JOB TYPE L/S	5 0	HOLE SIZE 7	75"	HOLE DEPTH	1220'	CASING SIZE & V	VEIGHT 54"	@ 14#
CASING DEPTH	1215:84 G.L.	DRILL PIPE		TUBING			OTHER	
	IT_13.1 #	SLURRY VOL_	55	WATER gal/s	k 6 0 2	CEMENT LEFT in	CASING	
DISPLACEMENT 30 Bb1 DISPLACEMENT PSI 500 MIX PSI 100 Bun gly RATE DISPLACE @ 4 BPM							om	
REMARKS: Sa	fely meet	ing, rig	10 40 5	1/2" cosina	1. Wash de	wn 15 w/	70 1361 1	HEO, MIYER
						200 555		
W/ 70/0	gel 2%	calcium, 3	al col-seal	151,5 11	Kul-seal/s	5k, 1# phe	noseal/sk	9 1/40/0
CTL-115	@ 13.7 #	Igal. Sho	I down in	ash out	pump & 1	iros. Displa	ce w/30	Bb1 1120.
Final Pu	mpina Di	1855UVE	of 500	Psi, be	imped plug	101000PSI	· Plixy +	1091
held 600	d Circla	lion, 4 i	36/ 5/011	ry to i	OH. Joh	Complet	P	
1				'				
			()					
			Than	155 5	hannon 4	(vew"		

ACCOUNT	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401		PUMP CHARGE	1085 00	1085.00
5406	δ	MILEAGE Mile on Location	w/c	NK
1124	200 S £ 5	50/50 pormit comen/	11.50	2300.00
1118 B	385#	Gel @ 2%	, 22	84.70
1102	385#	Calcium @ 7%	. 78	300.30
1101	600 #	Cal-seal @ 3#/sk	-42	252.00
1110A	1000 #	Kol-Seal @ 5 #/5k .	,46	460.00
1107 A	200 #	Phenoseal @ 1#/sk	1 35	270.00
1135 A	50 #	CFL-115 · @ 1/4 %	11.08	554.00
5407A	9.6 Tons	Ton mileage bulk Trick (x somiles)	1, 41	676.80
5501C	3.5 1/1.5	Water Transport	120.00	420.00
5502C	3.5 1115 .	50 Bbl # 88 mccoy Trucking	90.00	315.00
			Sub Total	6717,80
		63%		265 92
rin 3737	16 6		ESTIMATED TOTAL	6983.76

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form

TITLE_

Olson, Ruby A. 2-15

Pipe#	Joint Length	Running Total - NO threads	Battle Location	PostRock Energy- Casing Tally Sheet
1	42.27	42.02		Date: 5/3/13
2	42.45	84.22		Well Name & #: Olson2-15
3	42.22	126.19		Township & Range: 28S-16E
4	42.54	168.48		County/State: Wilson/KS
5	42.54	210.77		AFE#: D13084
6	42.49	253.01		API# 15-205-28144-00-00
7	41.88	294.64	90	Comments:
8	41.71	336.1		Projected TD- 1220'
9	42.5	378.35		
10	42.55	420.65		Joints are numbered in White
11	42.48	462.88		
12	42.5	505.13		Subs are in orange
13	42.52	550.4		
14	42.29	589.44		
15	41.95	631.14		
16	42.51	673.4		
17	42.49	715.64		Added these subs for
18	42.08	757.47		flexibility to adjust to actual TD
19	42.16	799.38		220 W
20	42.18	841.31		Trailer# 932900
21	41.84	882.9		all all
22	40.81	923.46		Actual TD - 1220
23	42.09	965.3		Log Bottom - 1220.00
24	42.08	1007.13		Casing Tally - 1215.84
25	42.02	1048.9		No Baffles
26	42.05	1090.7		Centralizers per SOP
27	42	1132.45		
28	41.95	1174.15	1	
29	41.94	1215.84		
30	14.88	1230.47		r.
31	10.01	1240.23		
32	5.32	1245.3		
33				
34				
35				
36		. 15		
37				
38			9	
39				
40				

PostRock Energy Corp.